2-1 1-12 12-11 11-10 10-9 9-8 deLudlfa gal)
Path-3 | Phys -3 | Phys-3 | Phar-1 | Anat-1 | Anat-1 Ciage sy
Bio-3 2 ¢ u 22/5
Phys -2 | Phys -2 | 3l pasall 3 dcld
Phar -4 | Anat-4 | Anat-4 | Path-2 sl aenal) 2 o8

-
:
3

Phar -3 | Anat-3 Anat-3 Path-1 Phys -1 | Phys -1 g 3
Bio-4 2z 23/5

Phys -4 | Phys -4 sl aeaal) 3 dsld

Path-4 Phar -2 | Anat-2 | Anat-2 yaal) aanal) 2 AsB

Path-1 Phys -3 | Phys -3 | Phar -3 | Anat-1 Anat-1 —am]
Bio-1 2z 24/5
Phys -2 | Phys -2 | Sl seaall 343
Phar -2 | Anat-4 | Anat-4 | Path -4 sl aanal) 2 o8
Phar -1 | Anat-3 Anat-3 Path-3 | Phys -1 | Phys -1 S slay Y
Phys -4 | Phys -4 i) paxal) 3 dsld 25/5
Phar -4 3z

Haal) aaxall 2 sl




2-1 1-12 12-11 11-10 10-9 9-8 deLudlfa gal)
Path-7| Phys-7| Phys-7| Phar-5| Anat-5| Anat-5 Cag aaY)
Bio-7 2z 295
Phys -6 | Phys -6 ) paaal) 3 4ol
Phar-8 Anat-8 Anat-8| Path-6 yaal) paaal) 2 dcld

Phar-7 Anat-7 Anat-7| Path-5| Phys-5| Phys-5 g
Phar-6 2 30/5
Phys -8| Phys -8 sl ganal) 3 dcld
Path-8 Bio-8 Anat-6 Anat-6 Laal) ganal) 2 dcld
Phar-5| Phys-7| Phys -7 Bio-5 Path -5 Path -5 g s
Phys -6 | Phys -6 L) aaal) 3 sl 31/5
Path -8| Path-8| Phar-8 Lial) ganal) 2 dcld

i
|

Path -7 Path -7| Phar-7| Phys-5| Phys-5 i
Phys -8| Phys -8 33l panall 3 4ol 1/6
Phar-6 Bio-6| Path-6| Path-6 Laal) ganal) 2 dcd




21 112 12-11 11-10 10-9 9-8 de Lud)fa o2l)

Bio-3 Phar -3 Phys -3 Phar-1 Path -1 Path -1 g asY)
Phys -2 | aall gaxall 3 dcld

Phar-4 Path -4 Path -4 Bio -2 Phar -2 aal) taaal) 2 A 5/6

Phar-7 | Path -7 Path -7 Bio -5 Phar -5 | Phys -5 g OY)
Bio -8 Phar -8 Phar-6 Path -6 Path -6 | 2l gasall 243

Path - 145 | Path - 4+8 g £ Ui
Bio — 4+8 | Phar - 4+8 | Phar - 4+8 | Bio - 1+5 | Phar - 1+5 | Phar - 1+5 | sl gasall 2 dcld 7/6
Path -2+6 | Path - 3+7 g slay Y
Bio - 3+7 | Phar - 3+7 | Phar - 3+7 | Bio - 246 | Phar - 2+6 | Phar - 2+6 | sl asxall 2 dcld 8/6
9/6

19/6




